
24
m

m
0.

94
in

17
m

m
0.

67
in

0m
m

0.
00

in

10
m

m
0.

39
in

50
m

m
1.

97
in

40
m

m
1.

57
in

28
m

m
1.

10
in

0mm 0.00in

10mm 0.39in

67.5mm 2.66in

125mm 4.92in

135mm 5.31in

0mm 0.00in
17mm 0.67in

117mm 4.61in

24mm 0.94in

13
5m

m
5.

31
in

11
5m

m
4.

53
in

10
m

m
0.

39
in

10mm 0.39in

29mm 1.14in

136.1mm 5.36in23.7mm 0.93in

24
m

m
0.

94
in

18
m

m
0.

71
in

0mm 0.00in

12mm 0.47in

80mm 3.15in

148mm 5.83in

160mm 6.30in

0m
m

0.
00

in

12
m

m
0.

47
in

39
m

m
1.

54
in

50
m

m
1.

97
in

0mm 0.00in
18mm 0.71in
24mm 0.94in

138mm 5.43in

16
0m

m
6.

30
in

13
6m

m
5.

35
in

12
m

m
0.

47
in

12mm 0.47in

28mm 1.10in

180.3mm 7.10in28.7mm 1.13in

For NG16 (D07) 
P/N: MTKT-NG16-001-K-01-A

For NG25 (D08) 
P/N: MTKT-NG25-001-K-01-A

ITEM NO. QTY. PART NUMBER DESCRIPTION

1 2 MTKT-NG16-001-B-xx-A NG16 Mounting Bracket, Base Mount

2 4 BOLT-SHC-M10x50-C-BA-129 M10 x 50 Long Socket HEad Cap 
Screw

3 2 BOLT-SHC-M10x20-C-BA-129 M10 x 20 Long Socket Head Cap 
Screw

4 6 WASH-HCL-M10-BA High Collar Lock Washer, M10

ITEM NO. QTY. PART NUMBER DESCRIPTION

1 2 MTKT-NG25-001-B-xx-A NG25 Mounting Bracket, Base Mount

2 4 BOLT-SHC-M12x55-C-BA-129 M12 x 55 Long Socket Head Cap Screw

3 2 BOLT-SHC-M12x25-C-BA-129 M12 x 25 Long Socket Head Cap Screw

4 6 WASR-HCL-M12-BA High Collar Lock Washer, M12

3-3

A A

1

1
NG16 (D07) & NG25 (D08)MTKT:  BAR Mounting Kit

100 King St East
Kawartha Lakes, ON
K0L 2W0

MT
KT

:  B
AR

 M
ou

nti
ng

 K
it

MT
KT

:  B
AR

 M
ou

nti
ng

 K
it

WWW.K-C.CA

Subject to Change: CTLG-01-001A

HTTP://www.K-C.CA

	BMOD-NG16 and NG25
	Drawing View432
	Drawing View433
	Drawing View434
	Drawing View435
	Drawing View436
	Drawing View440
	Drawing View441
	Drawing View442
	Drawing View443
	Drawing View444
	Drawing View445
	Drawing View446
	Drawing View447
	Drawing View448
	Drawing View449
	Drawing View450


